
Lösungsvorschlag 
Uebung_11 
 

body { 
 margin:0; padding:0;  
 background-image:url(Uebung_010_bg.jpg);  
 background-repeat:repeat-x;  
 }  

  
 #nav {  
 width:250px;  
 height:900px;  
 float:left;  
 }  

  
 #inhalt {  
 width:650px;  
 height:900px;  
 background-image:url(uebung_10.jpg);  
 background-repeat:no-repeat;  
 background-color:#363020;  
 float:left;  
 border-left:3px solid #D6BD9F;  
 border-right:3px solid #D6BD9F;  
 }  

  
 table {  
 margin-top:350px;  
 margin-left:70px;  
 }  

  
 #absatz1 {  
 margin-top:30px;  
 }  

  
 h1 {  
 width:320px;  
 font-family:Arial black;  



 position:relative;  
 left:325px;  
 top:20px;  
 color:#DFCEB2;  
 }  

  
 p {  
 padding:20px;  
 text-align:justify;  
 font-family:Arial;  
 font-size:14px;  
 color:#DFCEB2;  
 }  

  
 ul {  
 margin-top:150px;  
 }  

  
 li {  
 list-style-type:none;  
 display:block;  
 font-family:Arial;  
 padding:10px;  
 }  

  
 li a, td a {  
 font-size:16px;  
 color:#FFFFFF;  
 text-decoration:none;  
 }  

  
 li a:hover, td a:hover {  
 text-decoration:underline;  
 font-weight:bold;  
 font-size:18px;  
 }  

  
 td {  



 width:80px;  
 padding:5px;  
 text-align:center;  
 font-family:Arial;  
 border:1px dotted white;  
 }  
 


